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Losung Al

a) |3vV2+5V2 =|8v2

b) | 7v5-3v5 = | 45

c) |3V3+8V3-2V3 =19V3

d) | 4V7—5V7 +8V7 —6V7 = (V7

e) | 2V13+8V13 —15V13 = | —5V13

f) | 510 — 3V10 — (8V10 + 4V10) = | —2V10

g) |42V11-2,7V11+02V11—v11 | =|07V11

h) | 7Va+4va—11va+3va; (a=0) | =|3Va

) |V2Z4NZ-2VZ-IVEI+IvZ | =|3v2
Losung A2

a) |3vV2+4V2 = |72

b) |9v3-7V3 =|2V3

c) | 12v11+5V11 = | 17V11

d) |4vV6+3V6—2vV6 = |5V6

e) | 4Vx+3Vx = | 7V/x

f) | 14v/x —9/x = | 5Vx

g) |2va-3va—-+a; (a>=0) = | -2Va

h) | 3vx —2vVx + 4Vx; (x = 0) = | 5vx
Lésung A3

a) |2v2-3V3+5V2-8V3 = |72 -11V3

b) | 4V5 + 8V7 — 35 + 4V3 — 57 = [V54+3V7 +4V3

©) | 0,7va+1,3vb — 42va — 2,4V + 0,4va — 1,3Va; (a;b = 0)

= | —4,4va - 1,1vb
d) [3VIT+2V3-2VI1+2V3 = | SVIT+2V3
€) | 5vI5 — 15v5 + 7V13 — 8V5 + 13v13 — 2v15
= | 3v15 — 23+/5 + 20V/13
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